Rounding Code Breaker

	A
	B
	C
	D
	E
	F
	G
	H
	I
	J
	K
	L
	M

	14
	12.04
	56.23
	0.04
	12
	0.01
	19.8
	19.75
	34.9
	35
	-1
	19.7
	2.4



	N
	O
	P
	Q
	R
	S
	T
	U
	V
	W
	X
	Y
	Z

	65
	2.5
	2.6
	4.649
	50
	-3
	60
	4.65
	59.10
	19.85
	10
	92.33
	18.6



Answer the following questions to crack my code.
The order of the letters in each word has been muddled up.

	Question
	Answer
	Letter

	2.34 lies between 2.3 and ___
	
	

	-2.9921 lies between -2 and ___
	
	

	____ lies exactly half way between 19.8 and 19.7
	
	

	59.96 lies between 59.9 and ____
	
	

	13.8 lies between  13 and ___
	
	



	Round -3.039 to 1dp
	
	

	Round 34.92 to 1dp
	
	



	The difference between 18.45 and ____ is equal to the difference between 18.45 and 17.2
	
	

	Round 92.33333333…. to 2dp
	
	

	Round 56 to the nearest ten
	
	

	Round 19.74999 to 1dp
	
	

	60.003 rounded to 2dp
	
	

	Round 13.5 to the nearest whole number
	
	

	Round 2.45 to 1dp
	
	



	Round 13.9984 to 2dp
	
	

	Round 12.03994 to 3dp
	
	

	Round 0.0052 to 2dp
	
	

	Round 19.66666666… to 1dp
	
	

	___ is the smallest value with a nearest whole number of 3
	
	

	Round -2.996 to 2dp
	
	

	Round 3.558 to the 2dp, then add 1.09
	
	

	Any value > or = to 4.55 and <  ___ will round to 4.6
	
	



The answer:
___ ___ ___ ___ ___ / ___ ___ / ___ ___ ___ ___ ___ ___ ___ /
___ ___ ___ ___  ___ ___ ___ ___.
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